NORTH LANCS SWIMMING LEAGUE RESULTS 2008

Division 1 Galas 2nd 3rd |4th| League Gala
Swum Points Points
1 |Southport 4 16| 665
2 |Leyland 4 1 12| 506
3 |Fleetwood 4 1 11| 503
4 |Carnforth 4 21 1 9 484
5 [Newton Hall 4 1] 2 7| 453
6 |Chorley 4 1 3 5| 375
Division 2 Galas 2nd 3rd |4th| League Gala
Swum Points Points
1 [Preston 4 16| 679
2 (Blackpool 4 13| 599
3 |Clitheroe 4 1] 2 7| 413
4 |Lancaster 4 21 * 7| 378
5 |Rosegrove 4 2| 1* 5[ 298
* Did not compete in a gala
Division 3 Galas 2nd 3rd |4th[ League Gala
Swum Points Points
1 |Southport 4 16
2 |(Leyland B 4 1 3 12
3 [Newton HB 4 1* 11.5
4 |Garstang 4 2* 9.5
5 |[Carnforth B 4 3 1 7
6 |[Kirkham 4 4 4
* Garstang and Newton Hall B were 3rd equal
Division 1
01/03/2008| 1 |(Southport 163| 2 |[Fleetwood 117| 3 |Carnforth 112| 4|Chorley 108
18/03/2008( 1 [Leyland 147| 2 ([NewtonH 145| 3 |Carnforth 118| 4|Chorley 88
26/04/2008| 1 |Southport 164| 2 |[Leyland 122| 3 |Newton H 110| 4|Carnforth 104
10/05/2008| 1 [Carnforth 150 2 [Fleetwood 135| 3 |Leyland 103| 4|{NewtonH 100
20/06/2008| 1 |Southport 167| 2 |[Leyland 134| 3 |Fleetwood 130| 4|Chorley 69
28/06/2008| 1 |Southport 171| 2 |Fleetwood 121| 3 |Chorley 110| 4|{NewtonH 98
Division 2
29/03/2008| 1 |Preston 180| 2 |(Blackpool 146| 3 |Clitheroe 114| 4|Rosegrove 0
26/04/2008| 1 |Blackpool 173| 2 [Lancaster 143| 3 |[Rosegrove 91| 4|Clitheroe 88
11/05/2008| 1 [Preston 164 2 (Blackpool 148( 3 [Lancaster 116| 4|Clitheroe 68
16/05/2008| 1 [Preston 174| 2 |Clitheroe 143| 3 |Rosegrove 123| 4|Lancaster 0
29/06/2008| 1 |Preston 161| 2 [Blackpool 132| 3 [Lancaster 119| 4|Rosegrove 84
Division 3
02/03/2008| 1 [NewtonH 148| 2 |Garstang 145| 3 |Leyland 139| 4|Kirkham 37
05/04/2008| 1 (Southport 1ST[ 2 [NewtonH 2ND| 3 [Carnforth 3RD| 4|Kirkham 4TH
19/04/2008| 1 |Southport | 163.5| 2 |Garstang 134.5( 3 |Carnforth 122.5| 4|Kirkham 73.5
26/04/2008| 1 |Leyland 142 2 ([NewtonH 140| 3 |Garstang 117| 4|Carnforth 95
10/05/2008| 1 |Southport 170 2 |Leyland 129| 3 |Carnforth 126| 4|Kirkham 62
17/05/2008| 1 |Southport 150 2 |Leyland 125| 3=|Garstang 111|3=[Newton H 111




